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l.a) 1) Test for absolute convergence/conditional convergence of the series N\
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ii) Find the mterval of convergence of the series Zlug(l +x).
'b)  Testfor mnvergence of the series:

2.a) Show that the volume of the largest rectangular pa:allclepiped that can be
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Form the differential equatmn by elumn,aUng a:hltrmy constants, y=ax+5b.

Salve the d]fferentlal equa:mn 13 —=y'4 . 1,|' - x!

Show thﬂt the s:-,rstem -::f' cunfﬂcal conics x + 2}* =1 where Ais a
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parameter, is self orthogonal.
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Solve (x*D? - 3xD+1) 1"“5‘“““-’3””. ove®
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A mass of 4 1bs suspended from a light elastic string of natural length 3 feet
extends it to a distance 2 ft. One end of the string is fixed and a mass of 2 Ibs is

;3::atta{:hcd t(}-uﬁlﬁr The mass: s.g f.xald 50 that lhf: -strmg is _]ust ua su‘etched amd 1;5:1
“then let go. Find the amplitudé period and thé iniximum veloity of the S.H.M. " ™

||||||

iiiiii

_Find Inverse Laplaca Transﬁ:mn of log|—

‘"vaethat grad(FG] FX(VXG)+G><(V><F) (F‘F)G—J—t.ﬁ'?)
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Solve the dlﬂ"ﬂl'ﬂltlﬂl evquatmn using Laplaoe tmnsfurmj—- + E‘rx =sint, x(0)=1,
1

x(0)=0. [8+7]
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Find the work done by a fmaeF:(xz —y* +x]i —(2xy+ ¥)7 , which moves a

particle in xy-plane from (0, 0) to (1, 1) along the parabola y* = x . [8+7]




